
Ma9 LG 9A (Formative Assessment) 
 
 

Marking Teacher: _______________________ Name: __________________ 
 
 Student #: __________________ 
 
Use algebra tiles to model each polynomial. 
 

1. a)  

€ 

2x2 − 4x 	 b)  

€ 

−x2 +2x − 3 
 
 
 
 
 
 
Classify each polynomial by degree and by number of terms 
 

2. a)  

€ 

3b+2	 b)  

€ 

4x2 − 2x + 3 
 
 
 
 
 
 
3. Write the addition sentence for the following and determine the sum. 
 

 
 
Simplify by combining like terms 
 

4. a)  

€ 

3x +5− 2x + 3+ x − 7	 b)  

€ 

5y2 − 3y− 2y−12y2  
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Add the following polynomials. 
 

5. a)  

€ 

2x2 − 3x +5( ) + 5x2 − 2x − 3( )	 b)  

€ 

4y2 − 3y+1( ) + −2+2y− 7y2( )  
	
	
	
	
	
	
	
	
Subtract the following polynomials. 
 

6. a)  

€ 

3x2 − 5x − 7( )− 2x2 − 6x + 3( )	 b)  

€ 

2y2 + 7y− 3( )− −5− 2y+5y2( )  
	
	
	
	
	
	
	
 
Write a polynomial for the perimeter of each shape, then simplify each polynomial. 
 

7.  a)   b)  	

    
	
	
	
	
	
	
 
8. The sum of two polynomials is 

€ 

3x2 − 2x +5.  One polynomial is 

€ 

2x2 + 3x − 2, what 
is the other? 

 
 
 
 
 
 
 

Directions:  See me about this  Move on to next guide  Review and redo 
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Ma9 LG 9B (Formative Assessment) 
 
 

Marking Teacher: _______________________ Name: __________________ 
 
 Student #: __________________ 
 
Use algebra tiles to model each polynomial. 
 

1. a)  

€ 

x2 +5x 	 b)  

€ 

−2x2 + 3x −1 
 
 
 
 
 
 
Classify each polynomial by degree and by number of terms 
 

2. a)  

€ 

3b2 	 b)  

€ 

−2x + 4x2 + 7 
 
 
 
 
 
 
3. Write the addition sentence for the following and determine the sum. 
 

 
 
Simplify by combining like terms 
 

4. a)  

€ 

−2x −1+ 3x + 4 +2x − 4 	 b)  

€ 

−1y2 − 4y+2y− 2y2  
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Add the following polynomials. 
 

5. a)  

€ 

x2 − 4x +1( ) + −2x2 + x − 2( ) 	 b)  

€ 

−2y2 +2y+ 3( ) + −3+5y− 2y2( )  
	
	
	
	
	
	
	
	
Subtract the following polynomials. 
 

6. a)  

€ 

4x2 +2x − 6( )− −3x2 − 2x +5( ) 	 b)  

€ 

−y2 − 3y+1( )− 4 − 6y− 2y2( ) 
	
	
	
	
	
	
	
 
Write a polynomial for the perimeter of each shape, then simplify each polynomial. 
 

7.  a)   b)  	

    
	
	
	
	
	
	
 
8. The difference between two polynomials is 

€ 

3x2 − 2x +5.  The first polynomial is 

€ 

2x2 + 3x − 2, what is the other? 
 
 
 
 
 
 
 

Directions:  See me about this  Move on to next guide  Review and redo 
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